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INSTRUCTIONS g

1. Answer all questions. 1 a gel % W v i

2. All questions carry equal marks, 2. W ae F 6% T )

3. Only one answer is to be given for each question. 3. T A BAW F A I A

4. H more than one answers are marked, it would be of| 4 % 8 AE IV Y o war F g I A
treated as WIoRg answer, AR HET 1

5. Each question has four alternative responses marked [} - U O F A s T R T R
serially as 1, 2, 3, 4. You have to darken only one T 1, 2,3, 4_ 3R fn ey B ol a wdl
cirele or bubble indicating the correct answer on the Fe P #d gu o @ e o e s
Answer Sheet using BLUE BALL POINT PEN. LR Eg F-T O7 i 9 WEe O 8 e

6. 173 part of the mark{s) of each question will be i BT &
deducted for each wrong answer. {A wrong answer | 6. TSE e T W S 3% @ 13 W EE
means an incorrect answer or ntore than one answers S e 3T § Ay HYF 9T Al m a5
for any question. Leaving all the relevant circles or P UF § ol ae A B R R uw & defve
bubbles of any guestion blank will not be considered W W T9F F W B WG 9T T4 A
as Wrong answer.) A

7. After opening the envelope the candidate should [}} 7. H¥-9% Sm ud wHy unE & Pwm # a
ensure that Series Code of the Question Paper and eI R T T 1] W F J [ 35 I@T
Answer Sheet must be same. In case they are different, RERIRN a8 Al ¥ o g gf}ﬁiﬂ q7
a candidate must obtain Envelop of Question paper & it &1 zad A fawrer O & far | oe-w #
O.MR. Sheet the same series. Candidate himself shall & A ar gEU 9v-99 T W & |
be responsible for ensuring this. I T | e uv federdt sl &

8. Mobile Phone/Bluetooth Devices or any other {J| 8. SiaEer W/ﬁ oy o) ToERNE 99 @
electronics gadget in the examination hall is strictly i 3§ aﬁ%‘;ﬁm b 2 uR Bl o)
dealt as per rules. % gre ol o arEl et @ O ou% s

9. Please correctly fill your Roll Number in O.M.R. I a FN PR B S
Sheet. 5 Marks will be deducted for filling wrong or [}l 9. % a1 S0t G svae oUW AT, THE YT WEE
incomplete Roll Number. T g R 9 TR W A U TR N T

10. If there is any sort of ambiguity/mistake either of 5 9% A T %7 afd ev & Eﬁf%jm !
printing or factual nature in Hindi and English Version ()| 10. 3% f5d uey & B od aiieh worad § B
of the question, the English Version will be treated as TFR B HE AT T T GE & g B A
standard. ' 9 & I EIe W B
Warning : If a candidate is found copying or if any Yyl © orre B el Wb g wrer o R

5
%
%
|

unauthorised material is found in histher possession, FLR. T IES

would be lodged against him/her in the Police Station and [}| oteuslt & e ¥y g wd
hefshe would liable to be prosecuted under Section 3 of Eicy] ﬁﬁﬁﬁ
the State Prevention of Unfairmeans Act, 1992 Board

may also debar him/her permanently from al} future \
examination of the Board. | i
1
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faiad § 8 TR B SE-AT / B - i BT e eRTaes @ 9 w9 gafem B/ 7 7
i T T g 1 wan %Y 9 I g -

fifoes e 9 HqE Priini g Mtanl

(i) aferor - gdt wBw s faras &\ Tigamr 7z & famna 9
(i) ofyad S dge TR - et £ AR W AFT wY
(iii) I STt - et w9 gt Afers w2l
(iv) TT-gEl e spd @l - o g oy wd M 529 @ 9
&< - w

1. (i) & i) 2. (i) 3 (iv) 3. (), () @ Gi) 4 G, [ )

Which of the following physical divisions of Rajasthan is/are correctly matched with their
Physiographic Characteristics? Select the correct answer using the codes given below -

Physical Divisions Rock Formations Physiographic Characteristics

i) South-eastern Plateau Archaen Vindhyan Senes Extended part of Gondwana land
i)  Western Sandy Plain Raialo Cretaceous Series Residual of Tethys Sea

i1} Aravalli Aravalli-Delhi Series Oldest Folded Mountain range
iv) North-eastern plain Deccan lava Vindhyan Series  Part of Sindhu river plain
Codes -

1. (ii) and (iii) 2. (i) and (iv) 3. (i), (i) and (3i) 4. (i), (iii) and (iv)

TreTaEd § H B - 91 OYE TR udy aifed) o1 S99 S & oA ol me 8 o
T9THET &7

3. A - - Teg - JeT ATE 4. Y ATET - S - 2T -

Which group of the following represents the correct sequence of mountain peaks of Rajasthan in
descending order of their height? |

1. Tatgarh - Kho - Bilali - Roja Bhakar 2. Kho - Tatgarh - Roja Bhakar - Bilali

3. Bilali - Kho - Tatgarh - Roja Bhakar 4. Roja Bhakar - Bilali - Tatgarh - Kho

T - L E o - L& gEfe B A S R T g @ m a wE T e -
gt - 1 T - 10

(Bl @) GIER )

A. qrE D) =, gy, HEE
B. WS9Ed _ i)&W, B, wrh

C. THsF e i) 9, T, 99
D. #fiyar iv) W, 7, FEH

‘qz‘a -

A B C D
G Gv) () G
2) (b (v (i) @
» @ @ @) Gv)
4 G i 3G (v
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Match List - | with List - I and select the correct answer using the codes given below -

List - I {Tri-Confluence) List - I (Rivers)

A, Bigod 1) Banas, Berach, Menali
B. Rajmahal i1y Banas, Dai, Khari

. Rameshwar Ghat ii1) Banas, Chambal, Sip
D. Beneshwar v} Som, Mahi, Jakham
Codes -

A B C D
@ dv)y i G
2) G Gv) Gi) (D
3 @ Gy qiy 0v)
4) (1) G ) v

4. BUF ZTT WA FAdrg TRV H 7 oUW H B9 - 91 gHied 98 5 7
1. Aw - Zi&m] T 2. Cwy - 30 ToFUH
3. BWhw - 3 T 4. BShw - 31& - J[% T5RIW

4. Which one of the following climatic regions proposed by Koppen is not correctly matched in Rajasthan 7
1. Aw - Southern Rajasthan 2. Cwg - Northern Rajasthan
3. BWhw - Arid desert 4. BShw - Sem: - arid desert

5. MM A NS Fray diEa i 9 eE -9/ gR - A 50T gHE/ 8 7 m%r%qusﬁr
ST 7 e TET g -
i) UT AEWE H TET ofF aeen-uey S o g9 Mgl @ Feor gem
i) aﬁ%ﬁﬁwﬁﬁw WWW&W%WWW’Wﬁmgﬂ%E
i) afaor - Egéﬁ'imtfawwc M B E A HIE g T T e &
iv) sferdr 9 o wEes Sef % ewm ¥ Mtk A mEr e e ogem
&7 - .
E (), Gi) - 37 (Gv) 2,40, G AT Gvy 3. (), (i) & (i) 4. (i) S (iv)

5. Which of the following statements regarding soils of Rajasthan is/are correct? Select the correct
answer using the codes given below -
i) In the Thar desert sandy soils have been formed from granitic and sandstone rocks
i} In the southern part red loamy soils have been formed from granite, gneiss and guartzite rocks
iii) In the south-eastern part black soils have been formed from the erosion of basaltic lava
iv) In the southern part mixed red soils have been formed from the erosion of phosphatic rocks
Codes -
1. (), (i1) and (iv) 2. (11), (iii) and (iv) 3. (i), (i1) and (iit) 4. (iii) and (iv)

6. TN % adl T e § R el e ohae B g S8 R Tw ge B wEe e ge 3 gh -
() 9ISk ANTEN & g9 TEAE & il 9 o geied
(il) AFEE & 29 75 4 110 997, Jiea afde a9 2§ a5 o o 9 E |
(iit) T - HfeTHT FEAEER I AIIE G T U0 AT 7 |
(iv) ufsmdr e & 59 faies e 9w B
"%‘g-
1. (1) 37 (D) 2. (i) 37 (i) 3. (ii) 37 (v) 4. (1), (i) &AW (iid)
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6  Examine the following statements regarding forests of Rajasthan and select the correct answer using
the codes given below -
i) Dry teak forests are concentrated in southemn part of Rajasthan
i1y Teak forests are found in areas having average annual rainfall of 75 to 110 cm.
iti) Sub-tropical evergreen forests are found on Mt. Abu
iv) Forests of western Rajasthan belong to mixed deciduous forests
Codes -
1. (i) and (i1) 2. (it} and (iii) 3. (i) and (iv) 4. (1), (i) and (11}

7. BUA(A) - ATE 49 Gt Meeadl SET § 9wiETn & TET B HIET B E _
FHR(R) - FTE qaT &0 0 T S - 9ivEE § 397 - 99 @l AR S Bl g8 6

Z-gc':_

1. (A)Y3R (R) 2/ T€ E, T2 (R) (A) @1 qoT = el 2 |
2. (A)IR (R) M 79 &, Feeg (R) (A) #1 oHifsTes == &3t & |
3. (A)TH E g (R)Tad 2 |

4, (A)TWE E B (R TE R

~d

Assertion (A) - Aravalli mountain range restricts expansion of desertification in neighbouring areas
Reason (R) - Aravalli mountain range extends uninterrupted from south-west to north-east throughout
the state

Codes -

1. (A)and (R) are both correct, and (R) fully explains (A)

2. (A} and (R) are both correct, but (R) explains (A) partially

3. (A)is correct, but {R) is wrong

4. (A)is wrong, but (R) is correct

8. e B gfte ¥ O™ & 9 93 FY - Aeag @V B - M E 7

1. e sl BeE mvs 2. ST Sl HEE e

3. d91¢ HYEE A qEE guE 4. Tl zow - oivE b v
8. In terms of area which one of the following is the largest agroclimatic zone in Rajasthan ?

1. Humid Southern Plain 2. Arid Western Plain

3. Flood Prone Eastern Plain 4. TYrrigated North - Western Plain
0. g - T g - A gefem B qur 9 R 0 ge w1 wEm e mE I gy -

a1 o - I

(TR & 8F3) (T & 95)

A. I - vivEH iy

B. i - ufsem i)

C. giyea i) YR

D. 3w - g - FeEdr iv) T

@ b

A B C D
LGl () @ (v
2. () @) @) (v
3.0G) (D) (V) (i)
4. @(v) G) G @
03-A 3
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9. Match List - 1 with List - II and select the correct answer using the codes given below -

List - I (Areas i Rajasthan)
A. North - west
B. South - west

C. West
D. South-cast-central
Codes

A B C D
oGy a4y av)y
2. M) (D Gi) 3Gv)
3. ) G Gv) @an)
4. vy (b @iy @

List - 1i (Cow Breeds)
1) Gir

it} Kankrej

111) Tharparkar

iv) Rathi

10. T - Leer g - 1 gatee i qur 9 B o e w gam e w9 T g -

T - |
(Fims afvarsm)
A, TR
C. werdy
D. =
'@\—Lf -

A B C D
L. vy iy (o ()
2. @D vy 4) b
3. (i) (v) G (D)
4. (1 (4v) (D i)

b - 11
(Fvem)

i) :ﬁi
iy At
iii) e
iv) HHEE

10. Match List - I with List - II and select the correct answer using the codes given below -

List - I (Irrigation Project )

A. Gagrin
B. Takli
C. Lhasi
D. Chakan
Codes

A B C D
1. Gv)y i)y ) @
2.0 (m)y @Gv)y (1) @b
3. auny (vy () )
4, (1y (@(v) G @G

11, S0 7 e § asAE & B F a6 - Qg sl (we) § i g6 ded W

T W B B 7 .

=

I
o
4, [

A

List - II (Dastrict)

i) Bundi
i1} Baran
iil) Kota

1v) Jhalawar

¢
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11. Central Ground Water Authority has restricted exploitation of ground water in which of the folowing ('P
administrative blocks of Rajasthan ?

Behror, Ostan, Mahuwa

Surajgarh, Desuri, Deoli

Bhinmal, Todabhim, Toda Raisingh

Behror, Bhinmal, Surajgarh, Dhond and Shrimadhopur

P

12. I F g8 TG TEr S & e F it ¥ -
National Highway of Rajasthan which is confined to one district only

1. 11A 2.79A 3. 76B 4.3A
13. T - [ g - 1 & gafem #ifay qun 46 B T e @ s @2 98 5 g -
T -1 T - 11
(@) (T &)
A, HE UE S i) AT
B. ZwwH i) wEEA
C. T i) 71 fRETET
D, dmEr : iv) @reer
E“

A B C D

1. (i) (v) (1) (i
2. (i) G vy M
vy () iy 3G
4. (ivy (i) (i) (1)

13. Match List - I with List - I and select the correct answer using the codes given below -
List - T (Minerals) List - II (Minining Areas)
A. Llead and Zinc 1) Leelwani
B. Tungsten i) Kolhan
C. Manganese i) Gudha Kisoridas
D. Copper iv) Walta
Codes

A B € D
Gil) (ivy ()  Gi)
(i) (i) (v) (D
(iv) (1) (i) (i)
(v) (i) @i (0
14, s - ey gdaor § g o= uam & geey § Fetei et e oheno St gw S
T FE N YR BT TR IO gy -
) TR TE W SIEA § Ao B & o1 HTETIOT TR o6y ST Wi e @ uEe offhes
9T E
i)y weElsT T H ST oErET v gy 450 B UF g B E
iil) & T I & qey 3t G g9 e &g JHEeg W & 99Ty 9 g )
iv) TS TR @ e & wadw adul § e e e S WEEs MR W
e 7 |
%_(:A
. @G 3AF Gv) 2. M), )T G 3. G, Gi) 3R Gv) 4. @ 3 (v

Rl A

03-A 7
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14. Examine the following statements regarding use of cross staff in chain - tape surveying and select
the correct answer using the codes given below -
i)  For taking accurate offsets on chain line use of optical square is better than ordinary cross staff
i1) In optical square both the rectangular mirrors are inclined at 45° to each other
iii) For maintaining proper alignment between two chain lines adjustable cross staff is used
iv) Mechanism of optical square is based on the principle of successive reflection of a light - ray
from two concave mirrors
Codes - ‘
1. (i), (ii) and (iv) 2. (O, @and (iil) 3. i), ) and (iv) 4. (1) and (iv)

15. ¥ - v 8 fvaf qor vwsi H dmmw M F U PR A AR - A e M A Ag A R /¥ 7

1. ded st ey sife 2. Y ST TR 99
3. T W SHE | 4, Ty whg
15. For measuring distances in miles and furlongs and area in acres which of the following chains 1s / are
used 7
1. Metric and Gunter’s chain . 2. Engineer’s and Gunter’s chain
3. Steel band chain 4.  Gunter’s chain

16, ‘SrEAe’ e U ST 6 S 9 Tl @ L8 i #1 99 WEd §U §9T Ty e S
¥ e ST E ?
1. S S 2. = vvewe 3. HiEg 4, . s

16. Which Scholar, on the basis of a copper plate titled ‘Broach gurjar’ has asserted that the rajput were
the descendents of the yuchi tribe and they were related to the Kushan tribe?
1. George Thomas 2. Dr. Bhandarkar 3. Cunningham 4. Dr. Kanoongo

17. = fiEaa weel 9§ SFE / S 3 U Se 9y % 9 4 qE 7
i) @& 1273 % | 9rpa 9oT H I § | i) TEUEI 3Ee YoTRdAeR ¥ |
iii) TAF TS Swm 9 | iv) af guE ¥ S IOl @1 39 S §
1. (), (i) 3R (iv) 2. (1), (it) A (iii) 3. (D), (i) 37 (v) 4. (@), GD), (i) 3T Gv)
17. Which amongst the following Statements is / are true about Chirwa inscription.
1) Itis inscribed in Sanskrit Language dating to 1273AD.
ii) It’s author was Ratnaprabhsuri.

i1} It’s was sculptured by Dehlan
iv) It mentions that the Rajputs originated from the agnikund

1. (i), (1) and (iv) 2. (1), (ii) and (i1i) 3.(1), (i) and v) 4. (1), (i), (iiij and (iv)
18. Tt formere & et @1 gEnis’ STaI % W E 7

1. dran fosr 2. o Y @ fomeg

3. TeEifeEn fimmrd 4. sroniaa @ feeea
I8, Which inscription mentions that the Chauhan were “Vatsya-gotra’ brahmins?

1. Chirwa inscription 2. Inscription of shring rishi

3. Bijoliya inscription 4. Inscription of Aprajit

03-A 8
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19 s damo e /e R R el S an § 981 &)
i) WY T —— ST AT @ JE 9 gaRn
i) ol vy — e am @Y e U usEey
iti) 7T FAWT - TF AT T YO W AT
ivy  fofer usrEelt —— TG 919 1 I J& THESl

1. (D)3 G 2. (i) AT (1v) 3. FHEE (i) 4. (1) 3R (v)

19. Which amongst the following statements is / are true about Hindu Festival?

1)  Akshya Tartiya ~ Vaishakh month Shukla Paksh Tartiya
i1} Nirjla Ekadashi - Jyeshtha month Shukla Paksh Ekadashi
i1} Akshya Tartiya - Chaitra month Shukla Paksh Tartiya

iv) Nirjla Ekadashi - Aashadh month Shukia Paksh Ekadashi

1. (i) and (ii) 2. (iii) and (iv) 3. only (iii) 4. (1) and (iv)
20. gz W (e ¥ faw g9l gu sfeg e gu E 7 |
1.5 (9 2. 3 (&) 3. 4 (am) 4. 7 (am)
20. How many * Maukhri - yup’ inscriptions have been discovered in Barwa village in Kota?
1. Five 2. Three 3. Four 4. Seven
21. ¥R 9 gedM SArseA e & fhe faerET Sfa o e g § g & o 7
1. /R @f 2. 91 arra] o 3. 97 g @t 4. 9 gEFE 9TE

21. Which rebel army Commander of Alauddin Khilji was given Shelter in Ranthambhor Fort by Hammir?
1. Amir Khan 2. Meer Alabande Khan 3. Meer Juber Khan 4. Meer Muhmmad Shah

22. gHfad Hife |
TR u9E dis ()
A) TEE gHEN iy e
B) “E@ 9%EE iiy afaer (dearsn)
C) TUEHE! 9REN i) e
D) iy TwEE iv) ErRET
?‘g_

A B C D
1. G G @) Gv)
2. () @) (i) Gv)
3. G Gi) @ aGv)
4. @) (v) (i) Gi)

22. Match the following: Sect : Main Centre or Head guarters

A) Gudhar Sect i) Jodhpur

B) Nawal Sect it) Dantara (Bhilwara)
C) Charandasi Sect iit) Delhi

D) Alkhiya Sect iv) Bikaner

Code -

A B C D
() G G (@Gv)
) () G @Gv)
(i) @) () (v
() Gv) (D) (i)
03-A 9
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23.

23.

24.

24.

25.

25.

26.

26.

27.

27.

28.

28.

29.

HITES H OO R o 7

3. OF TR %7 4, foard v oy ofwe

What was ‘Damani’ in Marwar?

I. A type of Local Saree (Odhani) 2.  Decorated Shoes

3. One revenue tax 4. An instrument of irrgation
HEFIOT FRAT BT e Y Cwie T Reas el § fvwe ¥ 7 :
1.7 (T 2. 4 (®R) 3. 9 (A 4, 5 (9=
Sangeetraj which was composed by Maharana Kumbha is divided into how many parts?
I. Seven 2. Four 3. Nine 4. Five
TS CYEA AW EE AR S ¥ 7

T ot ) -

2. =Eul Fwl erEd

3. O T e

In Rajasthan when is the ‘Gurla Festival® Celebrated?

I.  The Ashtmi (eight’th day) of the Shukla Paksh of Shravan
The Ashtmi (eight’th day) of the Krishna Paksh of Shravan
The Ashtmi (eight’th day} of the Krishna Paksh of Chaitra
The Ashtmi (eight’th day) of the Shukla Paksh of Bhadon

nallb o

T, AN, Be) oI W T @ e S H ety Remr E7

. oar gt 2. WY IS 3. HaE 9l 4. wEY7
Rama, Natha, Chajju and Sefu are associated with which of the following styles of painting?
1. Alwar Style 2. Jodhpur Style 3. Mewar Style 4. Jaipur Style
17th July 1946 &1 &7 79 § ‘Hogs B o=y 72y 7

1, @R 2. qIHYY 3. Y 4. IEIY

In which State was "Birbal day’ Celebrated on 17% July 19467

1. Bikaner 2. Bharatpur 3. Jaipur 4. Udaipur

‘Teremar &7 Ty A #Er M B ?
1. HrEw v e

Who is called the ‘Gandhi of Chirawa’?
1. Sardar Harlal Singh 2. - Seth Ghan Shyam Das Birla
3. Master Pyarelal Gupta 4. RadhaKrishna Bohra

“gferery # Hie A9 B W o eyt WY @ AT wRE ST Sl st did gl B e
M % o TpEe =il € SRR yfte off 70 o pue feeR wer £ 7

1. &% giaq 2. USLSH &g

3. AR AEE 4. TETAET AW

g geya T faser
YD FET

o

03-A 10
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. “In History the execution of Tantya tope will be treated as a crime of the British Govemment and the

generations 0 come will ask who had sanctioned this execution and who had confirmed it?” who
macs (s siafernent” ' :
I, Captain Showers 2. A.GG Lawrence

3. Jawaharlal Nehru 4. Madan Mohan Malviya

f. 19384 2. 1928%. 3. 19413, 4. 1934 %
In which year was the Marwar public society ordinance issued?

I. 1938 AD 2. 1928 AD 3. 1941 AD 4. 1934 AD
Tl ® giihd] & 7 ] _ .

A) T U R st B) = ud faei siiveal |
C) e T Al o D) edd STEE UF Af9ET orfehdl
1. A ET B FEW 2. CALBOE Dy %are{

3. °BLCUE DY Fa 4. ABHF C %A

The powers of the President are :

A) Executive and Legislative Powers B) Judicial and Financial Powers
C) Emergency and Martial Powers D) President’s Rule and Defence Powers
Select the correct answer using the code given below:

1. AandB only 2. A, BandDonly

3. B,Cand Donly 4. A, BandConly

. g uw ame B 9a AEy

1. TERIM TS A S 1950 ¥ @ T o |
2. % WG B AR 9997 Ud AEgE 2 |
3. I OEed # 9 Yy § 7

4. TE AW B UH GRET Gy § E

One amongst the following is incorrect, find out.

1. Rajasthan High Court was established in 1950

2. Territorial Jurisdiction of High Court is Jaipur and Jodhpur
3. The Seat of High Court is at Jodhpur

4. One bench of High Court is at Jaipur

wqeE dfEam g 9 2015 9% 100 HeteE fu o E
e HelEE 1956 ® 3w 2015 9% 9TA F amieET | 29 75y o 7 H9 onfag wEyr ¥ |
TETE @ IrAeT R #

P e H H o U S E 7
1.
2.
3.
4.

. Which one of the following Statements is incorrect 7

1. Upto May 2015, the Indian Constitution has been amended 100 times

2. The Territory of India, after Seventh amendment 1956 upto April 2013 consists of 29 states and
7 Union Territories

3. The Capital of Gujarat is Gandhinagar

4. The Capital of Gangtok is Sikkim

03-A 11
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34, AU 73 % H9EA TFE 1992 T w8 AT H A - ﬁfrmamaaraww T = H = weye feg ?
A) Fwar ararsay w3 e EET
B) I gAE WLT S AS] HET
C) vHEEd B HEE i st aHe & g e s Ny s

1 BU 0 g % oew W HE 39 g |
)
1. *A’ Fae 2CA'TE B FEE 3BT UE OO FAE 4.°A7, ‘BUE O

34. The Constitution 73rd amendment Act 1992 envisages a "E‘hree tier systemn of Panchayats in the
Country, provides for which of the followings?
A) Constitution of District Planning Committee
B) Constitution of a State Election Commission
C) Appointment of a Finance Commission to review the financial position of the Panchayats.
Select the correct answer using the codes given below Codes.
I. Aonly 2. Aand B only 3. B and C only 4. A, Band C

35, YgrEd I AT E

1. =EE o # 2. WM 99TET B
3. T EOTEA 4, TTHIOT IR SRR W
35. Panchayat Raj is a system of
i.  Local Government 2. Local Administration
3. Local Self - Government 4, Rural Local Self Government

36, 9T o 9 UE EH £ | T B

1. YT O 997 B §2% gAF % o0 SEieE) § |

2. W T guEs & el  dare & o e

3. HYOR 9EREE el O veTERTE uddsion ug Muse vEdr 2
4, TUY Y TEE @ gioged v AEE TuEel Hear 2

36. One amongst the following is incorrect, find out:
1. arpanch is responsible for convening the meetings of Gram Sabha
2. Gram Sevak is responsible for the maintenance of records of Panchayat
3. Sarpanch exercises administrative supervision and control over Panchayat staff
4. Sarpanch furnishes reports and record to State Government

37. wwd § 999 oo Ty afaml e g 7 '
L. HE EEr 2. HETRET
3. ~arEiigedr 4, Tty v @ mgrERE

37, Who 1s the Highest Law Officer in India?
1. Attorney General 2. Advocate General
3. Solicitor General 4. Secretary General Law Department

38. ww%w%wﬁ#%mw BT EE?

B) saa%‘ra’g%aéwaﬁar%q

C) T8 o199 T% 9¥ TTgUidT w A5 W A A Ed © |

D) 9% gTEETE % FHWO GraE H 3giad £

19 AU g g % anurE O 98 IET & g |

1, ‘A, B'ud ‘D’ 2. CALBUE CT 30AL CTTE DY 4. ‘A, B, ‘'C’ T8 ‘D"
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38. Which of the following Statements are true about the Governor of a State?
A) The Executive power of the State s vesied il
B) He must have atiained 35 years of age
C) He holds his office at the pleasure of the President
D) The grounds for his removal are laid down in the constitution

Choose the correct answer on the basis of Codes given below.

1. A,Band D 2. A, BandC 3. A, Cand D 4. A, B.CandD
39, fm 0 9 U gt HibeE 99§ |

1. Haunes SUEET 6 ST 2. oEpl v e WD ST

3. AT & UYAT S9N 7@ & SET 4, e TEEEAr # HEER
39. One amongst the followings is not Fundamental Right.

1. Right to Constitutional remedies 2. Cultural and Educational rights

3. Right to uphold Sovereignty of India 4. Right to freedom of Religion

40, TTRIA H YRl fau g9 o ey 2
The period of first Legislative Assembly of Rajasthan is
1. 1952-57 2. 1951 -56 3. 1954-59 4. 1953 -58

41, u FEd wp Wgd oUW & A Wl E ) g s vl F srom R g, 91 T qe uE 99 SR
T T 9 BIE Sl B | Hed Y 4 wigs wu § g9 % %W e 7
. oEEe, TE OU FaE 2. TEE, WA FUT HHE
3. T, YR AU ST 4, wadw, THAE TU1 SH

41. A child is standing in front of a magic mirror. She finds the image of her head bigger, the middle
portion of her body of the same size and that of the legs smaller. The following is the order of
combinations for the magic mirror from the top
[. Plane, Convex and Concave 2. Convex, Concave and Plane
3. Convex, Plane and Concave 4.  Concave, Plane and Convex

42, Tt Mwe gfe aw & difes sl @1 @7 e 93 & 9@ 80 & g wv ¥ | z9 49 1 daifiE w5
% 1610 TasTe o= BT Ui quT emaAr BN :
1. 06 99 + 1.25 D &94d1 2. EEE W - 125 D SET @
3. 39 @9 - 1.25 D €81 H 4, FIAF W + 1.25 D HEA H

42. The far point of a myopic person is 80cm in front of the eye. The nature and power of the lens
required is

1. A convex lens of power + 1.25 D 2. A concave lens of power - 1.25D
3. A convex lens of power - 1.25 D 4. A concave lens of power + 1.25 D
43, el Terge sl A el gfiorsT & R YR A o _
1. 94, 8@ 2 | 2. 39% 7 B AT A 97 gEAl § |
3. 9% FY O AR G 9 FEd 2 | 4. o sl W A9 B E
43. The magnetic field inside a long straight solenoid carrying current
1. Is zero 2. Decreases as we move towards its end
3. Increases as we move towards its end 4. s the same at all points

03-A 13



°0903 0303030303030393

44,

44,

45,

46.

46.

47.

47.

48.

48.

49,

50.

50.

Ti WIHE o1 et ol § ugad gmm g, o g ¥

1. i ghebaoheg 5§ 2. ZERfE awE A _

3wy TEEehe 5 4. wafrfEm gl 4
The Ti plasmid used in genetic engineering is obtained from :

1. Bacillus thuringiensis 2. Escherichia Coli

3. Agrobacterium Rhizogenes 4. Agrobacterium Tumefaciens

FHM TREA ¥ Tatad UH S 2
. TEMUETEE 2. 9@\ 3. \YE "l 4, TFA

. Hormone Production is a function related to

1. Hypothalamus 2. Pons 3. Hi.ppocampus. 4. Medulla

L. 100 fa 2. 110f= 3. 120fF 4. 13089
The life span of RBC is
I, 100 days 2. 110 days 3. 120 days 4. 130 days

fps ferfaa foramoy & & &en o o7 & o7 99 B °

1. wEer e 2. & - 4 faumy 3. MSZ - Ry 4, Taftggs femmy 40

Which of the following viruses causes common cold 7
1. Rhino Virus 2. T4 Virus 3. MSZ Virus 4. Simian Virus 40

= Tl § 9 BF 3 ey 8 Seael mEE g9 9T R 7
1. ®EE 9E 2. HEEHH 3, ewiften 4. faddfa

From which one of the following plants, the insecticide pyrethrum is prepared
1. Cymbopogon 2. Chrysanthemum 3. Tephrosia 4. Velivera

T p G, SR B A E ] gER H A Sirer o &, o aftordt st e o ¥ o ad
n ARERTE] BT SO0 H9 H SISl A9 A1 $E Tae g6

When n resistances each of value r are connected in parallel, then resultant resistance is x, when
these n resistances are connected in series, total resistance is

1. nx 2. rax 3. xn 4. nmwx
W gigETE B 8

1.y 2. UAgRE 3. f%mfhaq 4. &7

Antibodies are :
I. vy-globulins 2. albumins 3. Vitamins 4. Sugar

03A e
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51.

52.

52,

53.

53.

54.

54.

55.

55.

56.

56.

57.

57.

0303030303 03030303 0
forr forfieer arfifipen © ANH,(g) + 50,(g) — 4NO(g) + 6H,0(g) Tame7m ¥ |

A) Taoems wfsfsar 5 B) wa stubEar w

C) RYEIT HABED @ D) e har @

1. (A)@Em (D) 2. (B) a4 (C)

3. (AT (C) 4. (C)yaur (D)

The following reaction is : 4NH,(g) + 50,(g) > 4NO(g) + 6H,0(g) an example of
A) Displacement reaction B) Combination reaction

) Redox reaction D) Neutralisation reaction

1. (A)and (D) 2. (B)and (C)

3. (Ayand (O) 4. (C)and (D)

18 %%E ° H B E | *

1. 50% @ 2. 18% T 3. 60% GFT 4. 75% T
18 carat gold contains :

1. 50% gold 2. 18% gold 3. 60% gold 4. 75% gold
T A FeY |, e § I faed 2

[ 2. UH -

3, & o wever o anie sufted w8 e R 4, I H § @I L

In DC generator, the electricity produced in armature is

[. DC 2. AC

3. Armature is not present in DC generator 4. None of the above

U T G & H U et Fueell § AR T ar se sifaeem Em e

I Feel 9 31 Wad Siuwas 8 2. FUEAl § g2 v § uitad B @ g A

3. guEe H 93 W § URA B @ AR S 4. IUEE § 9 @ T

EMF induced in a coil rotating in a uniform magnetic field will be maximum, when the
1. Flux linked with the coil is maximum 2. Rate of change of flux linked is minimum.
3. Rate of change of flux linked is maximum 4. None of the above

1 H ¥ 59 BT %1 RNA, RNA 988670 8 77 o & 2

I. m-RNA 2. t-RNA

3. 81 A4 RNA (SnRNA) 4. fawndia MfwE RNA (hnRNA)
Which of the following types of RNA participate in RNA processing

I. m-RNA 2. tRNA

3. Small nuclear RNA (SnRNA) 4. Heterogeneous nuclear RNA (hnRNA)
uy qifafasr = § ol A

1. uéndy 2. WAHAT 3. EUA U 4. amr. udq, U,
The source of energy in an ecosystem is

I. ATP 2. Sunlight 3. DNA. 4. R.N.A.
sr@f%raa o & e ue ¢ |

1. 2. N 3. A 4. WUF

Chief constituent of natural gas is

1. Methane 2. Ethane 3. Butane 4. Propane
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58.

59.

59.

60,

60.

61.

61.

62.

62.

63.

63.

64.

% 4 T A PUSHMT F WA 7. 91 99 16 9T ¥ | GW1 % 9iaad @ & eel |

An EMF of 16 volts is induced in a coil of inductance 4M. The rate of changs of current must be

1. 64 A/S 2. 32A/8 3. 16 ASS 4. 4 AIS
R Rk T N A

I. HLV®# 2. EHET @I 3. o UM & 4. T @
PCR is used to detect _

I. HIV 2. Cancer 3. TB 4. Cholera
9T FT A A1 T Allew (T 9 ¥ weE E _

1. mE auer 2. v 3. e {9 4, fwm

Which of the following is the largest blood vessel in the body ?
1. Aorta 2. Capillaries 3. Pulmonary Vein 4. Heart

AN e ¥ 75T % ¥eET god £ | odd ®YF e g 89 1 ey Meee £
ST I e i HY 9 "edl & |

YT AT TS B

e ofite fawive 29 9 a9y @ 9 e E |

na R S

Industrial development increases employment opportunities. Which of following inference can be
drawn from above said statement.

I.  Recession increases unemployment.

2. Purchasing power decreases of unemployed person

3.  Unemployment increase recession.

4. There is negligible problem in the industrnally developed nations.

T e e £ SR T T &6 ¥ | B 9 o #eE gE R
1. B ga 8 E | _, 2. PT Y I E |
3. WY el A7 Y 9 ¥ | 4. T A

All dogs are asses and all asses are bullocks,
which of the following statement is correct.

1. Some dogs are asses. 2, Some asses are bullocks.

3. All asses and dogs are bullocks. 4. All the above.

A Tl | SO0 BT E A &9 6 § | O w9 0 e ¥ - N
1 waw e T o vae e g 2. OIEE] T § T QR AE § |

3, gye wpel § e gof P v IR E 40 wverd ol 9 99 SRR A & T

There is less percentage of passed students in the government schools. Above statement indicates that
1. There are no school buildings in government schools. 2. Government schools do not have good libraries.
3. Quality education is not given in government schools. 4. Government schools have less play-grounds.

e aie s R AT ¥ 1. e g, 2, H9TEH 3. YT 4. 3T 5.

1. & T 2. WY 3. AIEH 4. W

Which one is odd word in the following 1. Cauli flower 2. Mushroom 3. Carrot 4. Potato 5. Brinjal
I, Cauli flower 2. Carrot 3. Mushroom 4. Potato
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65. FHT IIE DA T § |
1. geEy. 2, e 2, e 4. 9y
L awsn 2. 3% 3. Hias 4, geEf
65. Which one is odd word
1. Earth 2. Moon 3. Mars 4. Mercury
1. Moon 2. Mercury 3. Mas 4. Earth

' 1 1
66. afg x=2+43 ] \/;“L“’”jx FOHF B 7 If x=2++/3 Then Value of \[;'*"‘“"\/‘“—: will be
L3 2. o 3. 2V6 4. 6
67. & Hers % ant & G 68 & 37 39 o & 9 36 £, W THHT YUHeE N -
The sum of square of two nuumbers is 68 and square of the difference of thern is 36. Then multiplication

value of the two is.
1. 16 2. 32 3, 58 ' 4. 30

68. Ui wfedl @, | W, 0w 5. w e vk uge ¥ em
i) ‘&, @ HACE WG T W TS

i) M HEY 7= R
iy W, W W A W] F F W © | 39T T o AT R U9 T Ie &1 | 39H gAY e
I &w 2. 0w 3. & 4, '8’

68. There is a group of five persons, namely of A, B,C,D & E
1) ‘A’ is shoner than “B”. But taller than E
il) “C is the Tallest
iii) ‘D’ is shorter than B, but taller than ‘A’. Reply the following questions on the basis of above

information.
Who is the shortest among these?
. A 2. ‘B 3. D 4. ‘W
69. 99T TET 68 H &1 TR HTH & ST gAWE 5 34 o B ghd M W hH B ?
Lw 2. = 3. % 4. 5’
69. The information given in question No. 68 tell that who is at second position in height.
I A PR 3. D 4. ‘E
70. 9597 Hear 68 ® & T wEA B SR W g0 % 9 O ofeadl B e ey wEl 6 o 99 M
L% 2. @ 3.0w 4, T

70. As per information given in the question No. 68 tell that. If all five persons stand according to
height, then who will be in mid of them? ,
I ‘A 2. ‘B 3. C 4. D>

71. T Tofaa gamell & s T BRI A F o W I P+ QB I EPQF GF B I P-Q T Y ¥
PQH G T IPXQH I EPQHF ME EIPQF I EPQFT a8 ¥ |
A+B-C 7 379 garm |

LCAmMEEl 2 CAFRETEl L CARIATWME| 4 CABIARE |
03-A 17
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71.

72.

72.

73.

73.

4.

74.

75.

76.

7.

After going through the following information give the answer to the questions given below,
Pl means P is son of Q.

P-{ means P is Wife of Q. P X (J means P is Brother of Q and P + Q means P is Sister of Q..
A+B-C shall mean.............

[. ‘C’is Father of ‘A> 2. ‘C’isson of ‘A’ 3. ‘C’isUncleof ‘A’ 4. ‘C’ is Brother of ‘A’

ugs w716 & Ry guer % 3y w A 6 .. AXB + C#roaed gon ?
1. A3TBNYg ¥ YE-9E € | 2. ACHfumm g
3. B,A#IsRT ¥ 4, ASRC T H 9E 9RA E |

As per informations given in question No. 71

tell that A X B <+ C shall mean that

1. A and B are Brother of each other 2. Aisfatherof C

3. Bis Sisterof A 4. A and C are Brother and sister to each other

T H aferr § A 29 % 0 36% o W e ¥ | 399 24% Sk oA Ry I g 9 sl |
AT 3N YUT #T YUl o 7

it was compulsory to get 36% marks in a paper to Manoj to pass it. He got only 24% marks and
failed by 9 marks. Total marks of paper was-
1. 66 2,75 3. 50 4. 60

U FE B FAHE T G0 1,76,400F | T9F 5% & &7 | wiaay 3hE g | 299 U @ 5
HqeE oy,

Present population of a town is 1,76,400. It increased by 5% annually. The population of Town
before 2 Years was.........
1. 150 000 2. 160000 3. 175000 4. 180000

U% E BT Rs. 1440/~ § §99 W 10% % &1 267 & | 39 fas 599 § 391 919 & 15% %1 @ 2 |
There is 10% loss if a watch is sold for Rs 1440/-. At What price it is to be sold to get 15% profit.

1. Rs. 1840/- 2. Rs. 1850/- 3. Rs. 1800/- 4. Rs. 1860/-

U 9 U Sl B 16 9¢ H 9 G £ | U I a9 | U &M & B0 o 24 € F W I 7
af% €1 g Wi & o 9% B § R 9¢ H @Iel & S

A tap can fill a Tank in 16 hours. Due to a hole in its base it is filled in 24 hours, If tank is full then
in how many hours it will be empty through the hole.

1. 40 2. 36 3. 45 4, 48

o &9 w1 10% aiftfe &7 & 2 of o1 apafy =r R, 420/~ 598 & ) 9 u9 9v el & 9 399 &0
HYW TR EFT |

Two years compound interest at rate of 10% per annum for an amount is Rs 420/- What will be the
simple interest for 3 years for the same amount at the same rate.

1. 500 2. 550 3. 600 . 4. 525
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78. ﬁ?&ﬁw%%aﬁ?aﬁ%nﬁmwm%w%wﬁamﬂ AV 20 F7 R ] i

1. 3 2. 5 3. 4 4. Eed T BT AET

78. If difference of cube and square of a number is 100 and difference of square and number is 20, then
value of number is
1. 3 2. 5 3.

o

4. None of these

79. U AEE WE #T uwy & Awe ST H 12 WAL @ 27 A wvem B vl W T Ay A Eem § 22
R ARG R DTt SR R At U i |
1. 1fssarufyger 20 2@Arafds 3 1sBdomder 4 25% 5 oF O

79. If a sailer sails 12 km distance within 5 hours against the flow of a rrver. If he soils 22 km distance n
same time along the flow of the river. Then velocity of the river is... ‘
I. 1 km/hour 2. 2km/hour 3. 1.5km/hour 4. 25 km/ hour

80. UM r Brom ol g9 M REErR UF @ # Wy #70 2 | SENGA o o e g9 AT
Circles of radius r touches each other as shown in the tl_gma.
The area of shaded portion will be

NN
1. 57 [
2. 377
3. 6/7r
4. 477

1. 3 W9ET Uh &M H 16T F qu e aa § | el 7 MerEy 2789 & i A7 5TE an 8 AE
T AR A 99w B w9 w0
1. 8fEwd S 2. 10fmH 3 9fFH 4. T H

81. A work is done in 16 days by 8§ jabours. They worked together for 2 days and after that 8 additional
labours joined them. The rest work will be finished by them in ...
1. 8days 2. 10 days 3. 9days 4. 7davs

82, ‘W 3ThEN WH B BN 16 9E H, o swpen 20 9€ H qun A e 24 9% H qw e wed £ AW A
foreren? 2B g1 by Forered ol w9, 777/ OO | sl 6 A famn g
L %213 2. 5 252 3. % 280/ 4 350

82. A work is finished by ‘A’ alone in 16 hours, ‘B" alone in 20 hours and *C alone in 24 hours. They
worked together and finished it and got Rs 777/- as a wages. The share of ‘B’ in the wages will be ..
1. Rs213/- 2. Rs 252/- 3. Rs 280/ 4. Rs 3t5/-

83. UH o BT AW gonel & W™l gy o% deT Be 6 e 8§ a9 wuEnlEd anT g7 s 2 |

%’ \ 1. 1%37%1?:335 2, 2—75 = e,
| e =
\/ 3, 1-535 71 e, 4, g1 3 HE
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83. The area of a shaded portion formed by a circle of radius one meter with in a square touching its four
stdes will be.....

yy L. I»Z— Sqg.mits. 2. 2-%« Sq.mits.
1 meter

T
v 3. i_§ Sq.mts. 4., m-1 Sq.mts.

(2.3) +(0.3) (2.3 +(0.3)
(237 -0.69+(03) 7 7 A (2.3) —0.69+(0.3)

84. T has the value-

1. 20 2. 24 3. 26 422
8S. &% BIET ¥ il Hew W HY e 15,18,27 A2 35 %1 A &9 WY 99 Y -
Find out the smallest number, if it is divided by 15,18,27 and 35 we get 9 as remainder.
. 1910 2. 2190 3. 1890 4. 1899
86. TEH | B UH AT F 50% IhE HA T ITH WEE H Fhg eH -
If a side of square is increased by 50% then its area will be increased by
1. 100 % 2. 125 % 3. 150 % 4. 225 %

87. &0 % e $B T q41 $T G T | 39% P o wear 48 qaw W o) Heew 140 % | A Twe wry A
|
Hari has some cows and some cocks. Their total number of heads is 48 and legs is 140., How many
cows he has?

1. 20 2. 22 3. 26 4. 24
(0.4) +(0.6) (0.4) +(0.6)

88 (04) 04x06+(06) T T e | (0.4) -04X0.6+(0.6)° Nas the value-

1. 0 v, 3. 2 4, 3

- . e 12

89. U AYTH N EGE g Y AR W 170We ¥ | 9% g9 9 Y Q° H gy TET & | qan sin 6 =5 ¥

a7 9 & B A 9 sty g gnl

1. 4509 2. 550 9t 3. 650 HEY 4, 750 9T

89. The Distance of an aeroplane from Aerodrome is 1170 meter. It make angle §° from runway and

) . e 12
value of sin§ = - What will be the Horizontal distance of the Aeroplane from Aerodrome.
1. 450 mts 2. 550 mts 3. 650 mis 4. 750 mts

90. e 97 HEnd 5:7:9 F U | ¥ o S FgaE SENad 1260 ¥ A1 969 g9 9E el -
If three numbers are in ratio of 5:7:9, and their LCM is 1260. Then Highest value number is
1. 63 2. 54 3. 45 4. 36
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91. =t Soft oo\ # Il dEn @ BT 1,2.4,7, 11, 16, .

What will be the next number in the following series 7 1, 2,4, 7, 11, 16,...
I 18 2. 36 3. 22 4. 25

92. 1 2ol 9 | STl deEn @ Y 3, 3,6, 18, 72, .
What will be the next number in the following series? 3, 3, 6, 18, 72, ...
1. 360 2. 364 3. 288 4, 320

93. UH T Y o &7 T 66 UG G & URFI Bl &I g9l I gl § | U &4 H U & SiEmay
Ty 7 B a7 B 8 HEE T § 7
1. T H 11 e @ F gl B & a9 g § |
2. TH G Y3 gUET 9@ % e ol of a9 gedl B
3. 39 & Y33 909 9E F U & & 99 HEAr § |
4. TH Y Y26 G HEA & U @ &0 a9 gEd B |

93. Out of a heap of pebbles 66 lots of equal number of pebbles can be formed. Each lot can have
maximum seven numbers of pebbles. Find which statement is incorrect.
1. 11 lots of equal number of pebbles can be formed
2. 3 lots of equal number of pebbles can be formed
3. 33 jots of equal number of pebbles can be formed
4

26 lots of equal number of pebbles can be formed

94, AT R @41 @O 7 What will be next picture?

o L ey & & [ —
| ey 3 > [ s = ¢ e < ¢
. L 2 .
i 4 D e’
e e ]
1. |&—e 2, | o>
*——p © e
4+—e T
> | PO
e ] .
3 Oty 4. | @i
S e

95. & & X AW Y % il o A 85 ¥ i I w42 % | 9 X >Y A X-Y & 9 & 7
The sum of square of two numbers X and Y is 85 and multiplication is 42. If X >Y then value of
X-Y will be.

1. 2 2. 4 3. 3 4, 1

96.aﬁaa‘rﬁﬁim'aa%gs‘}2@%%%@@3@%%@%%1:1zeﬂwmaﬁ7€r%ieﬁ
2 | I BT 7
1. 4008 2. 5009 3. 3Ee S0Wmer 4, 4ue 30feer

96. Arm of a clock indicating minutes is at 12 and arm indicating hours makes 120°angle with fninutes
arm in clockwise direction. Then clock will show the time.
1. 4.000 clock 2. 5.000 clock 3. 3hr 50min 4. 4hr 30min
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97. U HAT H 34 BEN B ofEE 9 46.5 Teel o B 1 afy sreams v ol ol feran g A ofme aw
500 T qg HA E | AIE H AT E |
1. 6ifHm 7w 2. 62T W 3. 60k, uTH 4. 647% T™

97. Average weight of 34 students in a class is 46.5 Kg. If the weight of teacher is added to it then
average weight increases by 500 gms. Weight of teacher is ...
. 6lKg 2. 62Kg 3. 60Kg 4. 64 Kg

98. frar 97 % =7 &I oyl U § U e u¥ U T 9 2/3 B G B A 3 B o0 oIy U o
O UF geE T 9 1/2 8 7 2 T e W -
1. 2/5 2. 3/5 3. 2/6 4. =THH H BE TE

98. If we add ope to denominator and numerator each, then value of a fraction become 2/3. If we subtract
one from each denominator and numerator, the value of it become /2. Fraction is-
1. 2/5 2. 3/5 3, 2/6 4.  None of These

99. Tomm F FHET F G FOSEIE 3:5 7 | THHN IR B AT 80 A9 & | 10 T UFET THHT TG H
1. 23 2. 12 3. 32 4. 35

99. Ratio of age of Vimal and Arun is 3:5. If total of their age is 80 years. Then after 10 years the ratio of
their age will be ..
1. 23 2. 1:2 by 3:2 4. 35

100. %87 & wep femy w¥ ferer e o1 A1) @ A 6 g AT e #6007 SR TEE 20 HieY @
fig = T2 3008 | w6 o A= ® -
1. 10V3 dex 2. 109%x 3. 20%wer 4. 2043 Hew

100. The angle of elevation of top of a tree on the bank of a river from its other bank is 60°and from a
point 20 meter further away from this is 30°. The width of the river is....
1. 10J3 mts 2. 10 mts 3. 20 mts 4. 203 mits

1 27 3/ .
101, =TTy 3./6 X379 X 39=(9)" # x 1 AW T -

’ 27 3
The value of x in equation............... 3}/9 X319 x 39 (Q)X is
1 '2— 1 i
3 2. 3. 3 4 2

102,69 99 99 ‘@ 77 97 @1 3fEd ong 1899 of | W % iy e o afea ang 2299 & e ¥
A AT W AAIE G B L T
Three years ago, the average age of ‘A’ & ‘B’ was I8 years. Adding ‘C’ the average age comes out to

be 22 years. The present age of ‘C’ is ....
1. 24 2. 27 3. 28 4. 30
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103,77 %7 300G 219 foaT & mmmmzuomawma&ﬁm:ﬁ@ g Tomer @7 ofg § g7 AT | At

e 1 § A A A 2 9 T o A T g § e AW,
I 24 2. 30 : 3 6% 4. wE T
103. The age of Ram is 6th part of age of his father. After 10 years age of Ram’s father is double the age
of Vimal. Vimal's 8th Birthday was 2 vears before, the age of Ram is ............... Years.
1. 24 2. 30 3. 6% 4. None

104, T & 80% feell ST & 859% Faenel ivw # of 759 el 4 Fawdi & 3o g2 1
ST e # g 40 el A ol @ Hwn E

In an examination 80% students in English, 83% students in Maths and 75% students in both subjects
passed. If 40 students failed in both subjects. Then total number of students appeared in exam were...

. 200 2. 400 3. 600 4. 500

105. A7 fodl e 1 Tister w99 H #70 ® gEe Y A9 A U g Y, B B E | 2 3 18 i H
H g B oA Al Hepe T g e s | )
I 30 2. 35 3. 40 4. B TE

105. B completes a work in a fix time. ‘A’ completes half (1/2) of it in 3/4 th time. Both complete it in 18
days . Then ‘B’ alone will complete it i ..o days.
. 30 2. 35 3. 40 4. None

106. T "ol & A 12069 § &7 mEa B S U # 60% Hgwan ¥ | A 30 [ B A oL = .
‘A’ completes a work in 12 days. ‘B’ is 60% more efficient than “A’. Then ‘B’ will complete it in ... days
1 ]
I. 2. - 4. T
6 8 i 4 ?
107 &1 9@ U B $F FHHT A5 I 308 § Wy wEA ¥ | a9 56 v ury we i A e g o wm v
~Two taps till @ Tank in 45 and 30 hours respectively. If both taps opened at sametime then both will
fill the tank in how many hours?

1 1 '
o375 2. T35 3. 15 4. 18

' E

108“&”@%43?&5W/JF‘}'33¥T®HW’3{ WWGE”QT?WdT“!IWSTWTTWFW
F1 nfy Enlr f. o /ger

A person completes his journey in 6 hours by a car at the speed of 45 km. /hr. To complete it in 5
hours the speed of car will be ........... km./hr.

1.55 2. 54 3. 53 4. 52

i()()wwm'g%wwﬁsﬁr ;g A5 THE | 9 HTA B | IEe 1S e W T, H1L / HE 1 O
H, AR 20 OFe 9% 3 O F d9 99 59 98l AW F @ B £ | Al x 1 3 e

I 312 "9 /e 20 36fp W/9er 3.0 400 di/der 4.0 520 v /e

109. A motor cyclist goes 39 km in 45 minutes. In first {5 min. he goes at the speed of x km./hr. Tn next
20 min. he goes at the double speed of it. The rest distance he goes with the same speed of first. The
valug of X is ...

1. 312 km/hr 2. 36 km/hr 3. 40 km./hr 4. 52 km./br
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110. 7% 9997 99 @ § TRE U5H 4 76, 07 /921 1 9 g A 8 | a9 arEfew 9 16 76 4/ ger @l
U W WA B | THHT AT WA E fa. d1 / gen.
1. 10 2. 6 3. 6.4 4. HE T8

110. A person goes from his house to office on foot at the speed of 4 km/ hour and returns by cycle at the
speed of 16 km./hr. His average speed is ............. km./hr.
. 10 2. 6 3. 64 4. None

111, u% axfde 6 6. o /921 &7 9@ o Us e S % ol @1 3 Qs § 917 &Y Wel B | 5EE
BT EA ¥ ... 3 HIE

A person crosses a diagonal of a square field in 3 seconds at the speed of 6 km./hr. The area of the
field is ....... square mits.
1.- 1536 2. 13.60 3. 1.80 4, 12.50

112,92 Ug T %1 qHae QI UT BT B aeErs O & o O N E A T &1 I T B
1. 30° 2. 45 3. 60° 4, I TE.

112,11 the length of the shadow of a pole on plane ground is double of the length of the pole. The angle
of elevation of Sun is
1. 30° 2. 45° 3. 60° 4.  Not any

113, Tt o7 61 4 & T SR ST 9W9F 0 1/5 % | = & afdE 87 ERT -
l. 4% 2. 5% 3. 6% 4, zE | B A

113. The 4 years simple interest on some amount is 1/5 of the principle amount. Yearly rate of interest is ........
1. 4% 2. 5% -3 6% 4. None of the above

114. Tt o9 &7 apgls =T w7 2 ad o faged . 3840/- 7u 3 99 & famem w. 4096/- & | 8w o k-
Some amount becomes Rs.3840/- in two years by a compound interest rate and it becomes Rs 4096/-
in three years. Then rate of interest is .......

2 :
1. 7*2‘% 2. 85% 3. 6“‘5‘% 4. B%

115. U iRy S99 Meneer 89 & 10 ge? a0 W 440%. S i ma s t | os Ba wm A £ -
1. 1.34 Baegy 2. 1.54 ¥FT 3. 1.44 ¥eeay 4. 1.64 Fgeay

115. A person travels 4.40 Km. distance by taking 10 rounds of his circular field. The area of his field is ......
1. 1.34 Hectare 2. 1.54 Hectare 3. 1.44 Hectare 4. 1.64 Hectare

116. 1% 424, d1. B & go@N a7 &I Fem? THh e Sl g Al § 1 e sy o g et -
1. 66%. 2. 649, W 3. 299 4. 68%

116. A circular shaped wire of 42 cm. radius is cut and it is shaped in a square. One arm of the square is .......
1. 66cm 2. 64cm 3. 72cm 4. 68cm
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The dimensions given in the field book are in meters. Total area of this field is ...

‘2; 1. 16753, =t 7 1. 1675 Sq.m

sirm 2T
ol 2. 188079 ol 2. 1880 Sqm
ﬁ i7 3. 15857, i 1 ? 17 3. 1585 Sq.m
i 4, 16257 5y 4. 1625 Sq.m

12— —iZ

118. /g &7 7 aifereer & fafve oy o) i &) Sae afsa 9 & 7
Y T |159F q5| 1625 26-35 36-45 46-55 56-65 |66F EH| P

ﬁé’% 30% 1775% | 1725% | 145% | 1425% | 512% | 1.13% 100

fFa ang @l § fteag s AET E 7

1. 1625 2. 36-45 3. 56-65 4. T BE TE -
118. The population of different age group is given in percentage in the table given below.

Age group “g’,;‘;s 16-25 26-35 36-45 46-55 56-65 |66 & above| Total

Pfgggggn 30% | 1775% | 1725% | 145% | 1425% | 512% | L13% 100

In which age group there is maximum population?
1. 16-25 2. 36-45 3. 56-65 4. Not any of above

119. 957 Fwn 1184 & i Jwell & SMuR W 3% 89 - 9@ 10,000 9 25 99 7% & ira) #f @ e -
Reply on the basis of Table given in question No. 118 . How much population is of persons upto age
of 25 on every 10, 0600?

1. 4775 2. 4825 3. 4275 4. 1775

120. 702 78 uid T § 91 ueR %1 S 29 - A 3y ufhes o o soieal 1 g @ g e seat
Ty g% dm s gnar ¥

1. &Y aur gige
2. MT a9l e
3. Y qYU TR
4, TET AU PN

120. Answer the following question from given pie-chart the number of persons engaged in service and
transport is equal to the number of persons engaged in .......
1. Agriculture and Transport
2. Trading and Industry

3. Agriculture and Trading

4

Industry and Agriculture
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m f sTee it (1) ZFT SAHM gerey § WE wEe gRdE (2 @ ST e B 7
. Ctl+N 2. Cul+M 3. Cul+S 4., TH H HiE 5

121. Which short cut key inserts a new slide in current presentation?
I Cul+N 2. Cul+M 3. Cul+S 4, None of the above

122, ALU % -

| adRfes At g 2. 07 e give 3, UelipeT WfE gHe 4. 3T § i T8
122 ALU is

i. Arithmetic Logic Unit 2. Array Logic Unit 3. Application Logic Unit 4. None of above
123. %% 4 G2 7 MI2 % faw &@ devd 2w -

The cell reference for cell range of G2 to M12 15

. G2MI2 2. G2MI2 3. G2Mi2 4. G2-M12
124, 3077 E WY THY T LT gl e FIE Al 9 A AAT E )
L FE e 2. UWERYM WY 3. SEEE Y 4, FTP w7

124.1f a computer provides database services to other, then it will be known as 7
1. Web server 2. Application server 3. Database server 4. FTP server

125, fesis v AHg wEfe BT -

1. =rgar I 2, ey an 3. fgmy e 4, g Uz w
125, The date and time displays on

. Taskbar 2. Status bar 3. System tray 4. Launch pad
126,775 | @9 Hie =EA (3E9) TE 2 ‘ |

1. dme 2. ;’ET%HS 3. AT 4. 9w fge
126. Which of the following is not a font style ?

i. Bold 2. halics 3. Regular 4, Superscript

127 erFe (25 § 59 91% &1 35 2 2

. o (RlEA) 2. dEfaE (Uamede) 3. Uegel GeilRE 4, Wy
127. Which technology is used in Compact discs?

I, Mechanical 2. Electrical 3. Electro Magnetic 4. Laser
I28. URL % 51 & ...

1. giEde o foe 2. giEdE A (g e

3. g Fary Aeee 4. grTER frr wnEe
128 URL stands for ...

1.  Universal Research List 2. Universal Resource List

3. Uniform Resource Locator 4,  Uniform Research Locator

129. 519 3199 BeaEe H 7 Ud [T W9 & I q9nT & A § -
. TETw upe 2. WAEE HPRY 3. EmArmE dreT 4.0 T A

129. To add a header or footer to your handout, you can use
1.  The title master 2. The slide master 3. The handout master 4.  All of the above
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Lzemmsmmmﬂwmwm?awwmw (FSF i) W &I @l
ﬁqﬁrmﬁm*f

U 3hde 2. U9REE 3. UENEE % 4, THE AT

130. Which option on the custom animation task pane allows you to apply a preset or custom motion path?

b, Add effect 2. Emphasis 3. Animate now 4. All of the above
131, Wi (SSie?) Y TR EEE o TR @ b weiied el § b R a1 BT -

1. g (HREe) HAS 2. WipT AE FHHES

3. Hiféy Pagvsr #avE 4. AENSH HETE
131. Sitde show options available to the presenter include all of the following except

I.  Transitions command 2. Speaker notes command

3. Meeting reminder command 4. Navigation commangds
132,30 Toeen ey vy ks (32 )Wwﬁﬁsﬁvﬁ?%mmﬁﬁﬁﬁwm%s

i, Ee 2. HEuEy 3. TEC BiEH Tl U
132, Hf the displayed system time and date is wrong, you can reset by using _

i.  Write 2. Calendar 3. Write file 4. Control panel
133,52 01 % wege? 7 e fa & A

1. oy 2. g®M wIg 3. Hdfesw wvg 4. Tafee R
133. First generation computer systems used

1. Transistors 2. Vacuum tubes 3. Magnetic cores 4. Silicon chips
134, frmare & A ® - ' . o

1. 1024 922 2. 1024 femare 3. 1024 W EEE 4. I 9 ®IE E
134. The term gigabyte refers to

I. 1024 bytes 2. 1024 kilobytes 3. 1024 megabytes 4. None of the above
135. 5991 B | & Ae MR (IRerE) @i gfta ufafefy soerer w7 )

1. WS e 2. TEET AT 3. Hifsgg FT=ame 4. TR AW
135. Which of the following provides a printed copy of your presentation 7

I. Qutlines 2. Speaker notes 3. Audience handouts 4. All of the above
136. e %] 39pw, % BT § O S S © -

1. uEde TheM 2. ke sww™

3. faifes Tpwm 4. wtifew THeE
136. Secret-key encryption is also known as

1. Private encryption 2. Secret-encryption

3. Symmetric encryption 4. Asymmetric encryption

137.9% WWW%W@W%WW@WW@WEWWW?
1. TCP 2. FTP 3. AW 4. TTET

137. Tool that is used to transfer data/files among computers on the Internet
1. TCp 2. FIP 3.  Archie 4. Gopher
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138. g deient sitafsay wiwa 9 denfere e mn -

Information Technology Act in India was amended in

. 2000 2. 2005 3. 2008 4, 2010
139. 3eaeT e s B9 § - _

1. g - e fafE / W - w2 BeR 2. W T

3. wE - wEy fae / Ruece e 4. Hiftm ww fepen / G @ Reww
139. Electronic kiosk is one form of:

1. non-store retailing 2. Supermarket

3. Discount retailer 4. limited line retailer
140. &g = %7€ & U 99 § - ‘ )

1. zge 2. 3SCYE 3. gE Wb 4. FE TR
140. A keyboard is this kind of device:

1. Input 2. Output 3. Word Processing 4. None of these
141. U%HW TEhdic F T HE ) UH WaW a1 A 8 -

The first cell in EXCEL worksheet is labeled as

1. AA 2. Al 3. Aa 4, A0

142. Ctrol+R T, %mwmm%

142. Cuol+R can be used for
1. Re-Open the last closed document
2. Re-Print the last printed page
3. Re-Apply the last paragraph formatting
4. Right align the selected paragraph

143.MS Word ¥ Ctrl+S & & -
1. fafiar % o 2. WEA % 3. Fww & w40 AR S

143.In MS Word, Ctrl+S is for ...

1. Scenarios 2. Size 3. Save 4,  Spelling Check
144. BFE1 FTERT (THIHIE) YEs™ 3O % & o0 Ygad S E 7

1. e 2. U UEe 3. ITECOE URNM 4. TOE TEET
144. Which application is used to prepare a presentation/slide show ?

1. Photoshop 2. Power Point 3. OQutlook Express 4. Internet explorer
145.Fa fae lame F v &9 § 7

1. 32 2. 1024 3. %Yy 4. 8

145. How many bits are equal to I Byte ?
1. 32 2. 1024 3. One million 4. 8
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146.7 fyoge B ¥ -

1. T e AR S A S E 2.

3. TEE B 99 BEl §ed gl 97 4.
146. A Pixel is -

1. A computer program that draws picture 2.

3. The smallest resolvable part of a picture 4.
147.f5Fed foeee & -

1. Tged W o5 Y g gwmr (Rreer) 2.

3. ufems # Pl SAHEH 4.
147. Digital Signature is

. Scanned Signature on Computer 2.

3. Public Key Encryption 4.
148. %5 UFH IITEIT B -

1. =i & Jead (WEe ofier Sewd) 2.

3. FYSE AT qedE 4.
148. Bluetooth is an example of

1. Personal Area Network 2.

3. Virtual Private Network 4,
149, 5zash 4 HeAv™ "ied B ¥ -

1. g ferew Thife & E | 7

3. e (ommm) R aEm e Ry a4
149. Network congestion occurs

I.  When a system terminates 2.

3. In case of traffic overloading 4.
150. WI-Fi &1 faeaw § -

1. aEee w 2. =R o i 3.
150. Expand WI-Fi ...

1. Wireless-flow 2. Wireless-fidelity 3.
151,797 dfer & SEmy 2 |

. HEmE 2. wRay 3.
152. 31/ + Sl 181 #f 61Y HT 9 9= I

1. e 2. AR 3,
153. 45418 THE H1 B #

1. P 2. "H 3.
154. 51 forftam o 9 &1 98 759 9O ¥ 7

1. T 2. IFRE 3.
155.79 forftam & & 9 & or  ofy ueel W & 7

1. sferfy 2. R 3.

03030.30303 03030303 0‘9
T H HE AE

A picture stored in secondary memory
None of these

T (=) % Tea T S

Software to recognize signature
Code number of the sender

WHE 8 Aegd (fime i deds)
IwafEd | B T8

Local Area Network
None of the mentioned

WY & AE F dig Hegy 2fee B
Femigd H B AE

When connection between two nodes terminates
None of the mentioned

awe fedfd 4, s A
Wide-fidelity 4. All of these
ST 4. A
sfagfea 4. FfastE
BHIEC] 4. €HAR
ECUG] 4. emie
S 4. it
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156, T TP T R W O AW 8 7
I W 2. v

PR S [ A L S
§RTOET TWEW O3 gye T 9Tn ¥

I uET 2. TR

R G R A BT T D
i 2. T

INERRS G IR LT ol

T

L EmE

Tl ys

P R sﬁﬁ%’? 2. ST, 3

|63 Tamimfigs & 9 i g - g7 e E
I AR
Jo HREE T - A
Fhd 19T H A B T e -

P, TEE-E,
3, T e -

o R
EHERTEIEI

P

E{'}F?’“—'ﬁwg .‘q ST -" ;»5 F
Lo 2.

166. 55 7 A9E 9T E |

1. e 2.yt
p67 Yany g oA g AR 2 % |
] ERiE B |

I.
3. OE A WFE W umT v

168 Frfalas 7 9 wum Og §
i, Wm?*‘r«wr%iﬁgl
3. mrEy TR E sreey vEEr E

|69 HEYE F me ° e 1 e W oaed B -

O 2. wEAEA

170, 91ER F 9 R R B AT
L. qr 2. wdEE

3.

ol

o

B

e 4.

Pl BPT usry e ¥

AHLET 4.

qrEy 4,

Hite 4, =fe

oL |G, U 4.0 vE, R d"

forar, =g 4. =, TEH

~

fasgr, Frs-aam

HY-gEE, HE-aE
G- ST, E-Trg?

grereT 4, g

U 4. A=A

g9 9GS I% HY TET & TE
T 919 & Feq ° RO g F |

TH FAY I BH 9EA Bl B |
= =Ry & W0 S9hn E |

AT 4. uged H 9w TEH |

FHAT 4, I H H #1E 9 |
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© 17150 Toitga § § BN - o7 G SoHG R T R 7

1. THY 9 WA B §9F |
3, W1 gme e R

172.7 Topar & @7 9y 78 SO 8, 59 BEd B

1. s fen 2. wHgE e

173. qejepTieres TERaT %7 SRR € |
1. fshg orft deee dred e |
3. ©IF 9T

174. ‘TR ove o fore averdist ¥ |
1. o 9f 2. SUAERS g

175. ‘=0BI0T WA AT gl % fu v o B
2. =IO - F9WE 3.

1. S gy

176. ‘a2 Fawr geray @ o & |
1. g ey s 2. G EF gw AN

177. ‘veare qui ST9ER &A1 Wi % sifveried 5E ®

1. T & siEn |
3. e e Yadt fpy - 5y sroe @ B |

178. BALLOT %t 9el &< 975 ¢ |
1. "du= 2. afum

179. BUREAUCRACY &7 gurels &= o= 2 |

1. SHad 2. SIEAE-EY

180. MINUTES &1 qarardes B o & |

1. wEge 2. fewon

0303030303 03030303 O
<

Il YST @I 9T 26T §
e R T

FE9E e 4. wwHEm fmar

. TRy welear &y uemr B
. THEST R

ATHT 4. =T A
. &S BT 4. e FgE
. & H TR
. % @1 sl ¥ uerg |
Gl 4. IEEH - U

feerdt - 9 4. EEw

wawd - e 4. AR
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